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S s , dZU=
RS485 E 41 (+1)(-2)
HH2TRA (3.8) SAH(4.8) TAH(5.8) : Pt100 dIAM &=
HOHE 5t% (6.8) D PE100 AIA o2
HOZ a2 (7.8) D Pt100 AIA o2
SH (4mA~20mA) E 2 =2 +(9.10)- : 26 - R.S.TE =2 2% gt =¥
HIOI & (4mA~20mA) B R E S +(11.12)- : HINE - L -HE =2 2% 2t =¥
UUNE NSEH
SH Ra =3 & (13.20) * =2 M (21.22) @ W22 K] 9
O S& =3 1 (14.20) * =2 M (23.22) @ M2E K2 9
OH T& =2 1 (15.20) * TRIP &3 (24.26) : n.o & &
HIOE L =& @ (16.20) * TRIP &2 (25.26) : n.c & &
HOZ H =& @ (17.20) « Mgleled (27.28) : AC 110V~220V &
K 1 = (18.20)
K2 & (19.20) MM TAl= 2SS (COM) 2 LICEH.



H S0 0Z2e B
E 41 0 Modbus RTU Mode / 9600bps , no parity,8 data bit,1stop bit
(40000 X| AlZ)

1. Memory ¥ <

* Memory (0~13)2 SLIE JIs &H gt
(14~20)2 2=4F 3t.
2. Memory LHE
Memory(0) 8 2= int =30 ~ +300
Memory (1) 8l 2= int =30 ~ +300
Memory(2) M 2= T int =30 ~ +300
Memory(3) 8T 2% BL int =30 ~ +300
Memory(4) S 2% BH int =30 ~ +300
Memory(5)
Memory(6)
Memory(7) dzs&E= (R.S.T) int 0~20mA (0~2000 gtz =4
Memory(8) M=&== (BL.BH) int 0~20mA (0~2000 2t =8
Memory(9)
3. Memory(10) E1 LEAK 24 AMEH bit
bit X L 2 (HI=s
bit— 0 0:L1 &4 g3 1 L1 &2 A
bit— 1 0: L2 ¢ s 12 9 e
bit— 2~15 e 83
4. Memory(11) H2 e LED AHEH bit
bit 2Xl 2 (834) L € (Error)
bit— 0 0: &dAM-R 1 : &dA-R
bit- 1 0: &dMH-S 1 dAH-S
bit- 2 0 : dA-T 1 MM-T
bit— 3 0 : &dA- BL 1 AlMH- BL
bit— 4 0 : MAlAN-BH 1 dAlAKH- BH
bit— 5
bit— 6
bit-7 HE 8is
bit— 8 0:L1 &8 g3 101 22 AS
bit— 9 0:Ll2 &4 A3 12 2 ASs




5. Memory(12) E3 orzt 20| =AY bit
bit Xl L 2 (34) Lh 2 (Error)
bit— 0 0 : &dA-R 1 dA-R
bit— 1 0 : MdIM-S 1 dA-S
bit— 2 0 : AIM-T 1 dA-T
bit— 3 0 @ MAlAN-BL 1 ¢ &A= BL
bit— 4 0 : M- BH 1 AlA- BH
bit— 5
bit— 6
b|t_ 7 LH"CéP' UA%
bit- 8 0: L1 &= gls 1L 22 UAS
bit— 9 0: L2 & g3 1012 & U3
6. Memory(13) E4 Trip SSAEH bit
bit 2Xl S (34) L & (Error)
bit— 0 0 : dlM-R 1 dA-R
bit— 1 0 : dA-S 1 d8A-S
bit- 2 0: MM-T 1 AA-T
bit— 3 0 : MAlAN-BL 1 ¢ &A= BL
bit—- 4 0 : MAlAN-BH 1 ¢ HA- BH
bit— 5
bit— 6
b|t_ 7 LH% HA%
bit- 8 0: L1 &= gls 1L 22 US
bit— 9 0: L2 & g3 1012 & U3
7. £3g%4
Memory(14) A2 R int 0~250
Memory(15) HdE2E S int 0~250
Memory(16) HE2T T int 0~250
Memory (17) HdF¥2% BL int 0~250
Memory(18) HAF2T BH int 0~250
Memory(19)
Memory (20)
Memory(21) A AE AFER int 0: A& 1 : Error
p Sl Id - HE 47 Wy
1. M2 UP HEE & Hx2t 20 |d - ( ) JF EAIELICH
2. UP.ON HHECZ |d HHIESE & (1-255)8t & SET HHES 15 S2H U,
3. €8 = & 2x = OIR g0l geH Hsez M&E S=&ELUILH
4, |d HSII SEHA AE==E E0I5IH FAANL.
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